Towbar
6351

Ssang yong

¢ G4 Rexton 2017->

KR él-i_!- Z|i:!

N Montagehandleiding

G Fittinginstructions

b Montageanleitung

F Instructions de montage

s Monteringsanvisningar

ok Montagevejledning

E Instrucciones de montaje
I Istruzioni peril montaggio
L Instrukcja montazu

st Asennusohjeet

a  Pokyny k montazi

H  Szerelési Gtmutatd

Rus PYKOBOZCTBO AJ19 MOHTaXa

BR.N K Your perfect Fit
[ | brink.eu



ser.nr

ser.nr

M12x90 (10.9)
110Nm

M12x160 (8.8)
75Nm

M12x160 (8.8)
75Nm

© 635170/11-10-2017/2



(8x) M12x160 (8.8)

g (3x) M12x90 (10.9)
©

(8x) M12

0

@

(11x) M12 (10)

© 635170/11-10-2017/3




D-Value :14,56 kN

2 Couplingsclass: A50-X
/ o :
% N
L l ,{;
Taetad
\\ V]

ECE R55 E1155R 0111089

R
"E—l% MODIFICATION?

®

© 635170/11-10-2017/4




Copy of manufacturersplate

1000km

© 635170/11-10-2017/5




NL

* Brink Towing Systems B.V. is niet aansprakelijk voor de schade die het
direct of indirect gevolg is van onjuiste montage, daaronder begrepen
gebruik van niet-geschikte gereedschappen en het gebruik van andere
dan de voorgeschreven montagewijze en middelen, dan wel onjuiste
interpretatie van dit onderhavig montagevoorschrift.

GB

NOTE:

* Should this installation process entail the cutting of the bumper -
conformation MUST be obtained by the installation engineer of the
customer’s acceptance prior to completion. Brink Towing Systems
B.V. do not accept responsibility for any matters arising as a result of
this miscommunication.

All measurements are in mm!

* Brink Towing Systems B.V. is not liable for damage caused directly or
indirectly by incorrect assembly, including the use of unsuitable tools,
the use of other assembly methods and means than the ones outlined,
and the incorrect interpretation of these assembly instructions.

D

HINWEISE:

* Die fur das Fahrzeug zugelassene Anhdngelast ist den Fahrzeug Unterlagen zu
entnehmen. Bei Anderungen des Fahrzeuggewichtes mup die héchstzulassi-
ge Anhdngelast gegebenenfalls aus dem D-Wert nachgerechnet werden.
Auskunft hieriiber kann Ihr Fachhandler oder der TUV geben.

* Elektrische Anlage gemap StVZO anbringen.

* Brink Towing Systems B.V. haftet nicht fiir Schaden, die als direkte oder
indirekte Folge einer nicht ordnungsgeméflen Montage auftreten,
darunter fallen auch die Benutzung von ungeeigneten Werkzeugen,
andere als die vorgeschriebenen Montageverfahren und Montagemittel

sowie eine fehlerhafte Interpretation der betreffenden Montage-
anweisung.

F

* Brink Towing Systems B.V. décline toute responsabilité pour les domma-
ges qui pourraient directement ou indirectement résulter d'un montage
incorrect, y compris ['utilisation d’outils inappropriés et ['utilisation d'un
mode d’emploi et de moyens autres que ceux prescrits, ou bien résulter
d'une interprétation inexacte des présentes instructions de montage.

S

* Brink Towing Systems B.V. ar inte ansvariga for skada som orsakats
direkt eller indirekt av felaktig montering, inklusive anvandning av
oldmpliga verktyg, andra monteringsmetoder och processer an de som
beskrivs, samt felaktig tolkning av dessa monteringsinstruktioner.

DK

* Brink Towing Systems B.V. er ikke ansvarlig for skade der direkte eller
indirekte er forarsaget af forkert montage, herunder ogsa iberegnet
brug af forkert vaerktgj og anvendelse af anden montagemetode og
andre montagemidler end de foreskrevne samt fejltolkning af den
medfglgende montagevejledning.

E

*Brink Towing Systems B.V. no se responsabiliza por dafios causados,
directa o indirectamente, por un montaje incorrecto, incluyendo el uso
de herramientas inadecuadas, por el uso de métodos de montaje y
medios distintos a los indicados y por la interpretaciéon incorrecta de
estas instrucciones de montaje.

© 635170/11-10-2017/6



I

* Brink Towing Systems B.V. non puo essere ritenuta responsabile per
eventuali danni direttamente o indirettamente dovuti ad un errato mon-
taggio, intendendo con cid anche ['uso di attrezzi non idonei e ['uso di
metodi e mezzi di montaggio diversi da quelli prescritti, nonché all'erra-
ta interpretazione delle seguenti istruzioni di montaggio.

PL

*Brink Towing Systems B.V. nie ponosi odpowiedzialnosci za straty
poniesione poérednio lub bezposrednio na skutek niewtasciwego mon-
tazu, w tym uzycia niewtasciwych narzedzii sposobéw montazu niezgod-
nych z instrukcja, oraz niezastosowanie sie do tresci instrukgji.

SF

* Brink Towing Systems B.V. ei ole vastuussa vioittumisesta, joka on suor-
aan tai epdsuoraan aiheutunut vaarasta asennuksesta samoin kuin sopi-
mattomien tyokalujen kaytosta, muiden kuin ohjeissa mainittujen asen-
nusmenetelmien tai valineiden kaytosta seka kyseisten asennusohjeiden
vadrintulkinnasta.

cz

* Spolecnost Brink Towing Systems B.V. neodpovida za pfimé ani nepfimé
Skody zplsobené nespravnou montazi, véetné pouziti nevhodnych
ndstrojl, pouziti jinych metod montadze a prostfedkd nez uvedenych a
nespravnym pochopenim téchto pokynd k montézi.

H

* A Brink Towing Systems B.V. nem villal felelésséget a nem megfeleld
szerelésbdl kozvetlen vagy kozvetett médon kovetkezd karokért. Ez
vonatkozik a nem megfelelé szerszdmok hasznélatéra, a lefrtaktél eltérd
modszerek és eszkdzok alkalmazédsara, valamint a szerelési Gtmutatd

téves értelmezésére.

RUS

* ®ypma Brink Towing Systems B.V. He oTBeYaeT 3a yLiepb, ABASIOWMIACS
NPAMbIM WM KOCBEHHbIM CNeLCTBMEM HEMPaBWUIbHOTO MOHTaXa, B TOM
4yncae MCNoNb30BaHNA HEMOAXOAAWMX MHCTPYMEHTOB M MPUMEHEHMA
MHOro cnocoba MOHTaXa WM APYrMx CPeacTB, Yem MnpefanncaHo B
NHCTPYKLMK, B0 HENPAaBWIbHOTO MCTOIKOB3HMNSA HACTOALLEN MHCTPYK-
LN MO MOHTaXy.

KR

FOIARY :

« 0] H2 TS ol ML AUBLICH Tah, B ¥ @
2 o ool efo Bsf YWIEA| DO OIS 0{0FYF FLICH Brink
L 22E ONAEY ZWT WMSHE 25 SAo O MAL 2N
oaLIct

2E 24 mm @YUt

J
= [ ’
olo] 23 WY U SO0 NG, 2 HYMe| BRH Y S5o2
OIS WASH DE 2ajo) Chaf MYS 27 YBLIC

© 635170/27-09 -2017/7



© 635170/11-10-2017/8



g

© 635170/11-10-2017/9



|| M\

O o

4

© 635170/11-10-2017/10




© 635170/11-10-2017/11



(8.8)

(8x) M12x160

(8x) M12

© 635170/11-10-2017/12



© 635170/11-10-2017/13



g2

N

© 635170/11-10-2017/14



© 635170/11-10-2017/15




2\_2§_m_m_r7_mb_..__mmh
NETWORKS INC.

2 A ZE oAl T g3 2 33-4 TEL 1644-2022
MNSAMRA  MSA| SHT NEAZ 606 LY CIE2|A BS 25022  TEL 02-861-8016
http://www.tlkor.com http://www.nnxsports.com



